LBADRE ARSI

‘ - TREheR 2 RERER 3RERER -
FE BiE  |SABROBRE oen [ snal | ARl | SREN | AREE | SREY | aRa | VIEK
17X KZE 58 24 22 3 7 4 4
27 9p2A
T—— - 2 10 g 4 4 2 :
R1 TR KZE 1 1 1 0 — — 0
68238
(RB2ET — 2 2 2 = - 2
TR =% 108275 9 6 4 2 — - 2
17X KZE 55 13 13 6 6 2 2
R2 98208
—REE (BEE) = 5 4 4 1 1 1 1
17X KZE 49 19 18 9 9 6 6
R3 2T 9m19m
—NR=ETE = 4 3 3 0 - — 0
17X KZE 54 18 15 8 7 6 4
AH (BEE) | A= 5 i = _ — _ 0
R4 |—mw=E% (BEE) [ 10828 1 0 — — — — 0
Y, KZE 0 0 — — — — 0
Y, =% 3 3 2 2 1 1 0
17X Kz 9817H 29 16 15 6 6 5 5
FH (BEE) | A% 2 2 2 of — _ 0
R5 |—=E% (BEE) =R 0 0 — — — — 0
9816H
TR KZE 0 0 — — — — 0
TR =R 5 5 4 3 2 1 0
17X KZE 68 20 16 6 5 5
R6 |48 (E=®) | %= | 68308 2 : : of — —
K KZE 3 2 2 2 1 1




